05904 RIERH HEEBRB K FERN - ERKE AT @R ZH

7= miiEA

ME
M,
RELRIEF,
TPEMHIZ %R,

I
AL MBEELAE,

B
EmRGREPEH, TAXARIERE—R, #EUVRIENETE
BN THREREN. BNEARIFEZLBH,

R4

05280 IR 18

07110 RimIKFE ZiRie
07117 WARXKRZFH

07120 #TAFE k124 DIN 6332
07121 KK TRATIE L 1R 48
07140 EMI DIN 6311

07142 ER

® ®
i) D
¥ 3| 3 *
S =]
90 8% T 3
A3
A2 A2 |1
A A
zgjj.a EO= —
~L
1
05904-006102 3 86° 67° 160 1350 1900 720 1200
05904-008102 3 86° 67° 200 2000 2800 830 1400
05904-010102 3 90° 71° 250 2200 4500 1200 2800
05904-012102 4 88° 68° 280 2400 5500 1000 2800
05904-006102 M6x35 26 |39/65| - 25]14,1/91|17,56 125|534 369| 8 |55| 752 71 193,3 | 60,5

© norelem www.norelem.com



05904 RIERH R LMY K FEEN EKEE A[ AR K

05904-008102 M8x45 26 |44 9 | - |35 141 (91| 21 16 | 51,1 465|105 |6,2| 88,2 84,3 | 2304 | 749
05904-010102 M10x55 | 41,559 9 | - | 2 | 16,2 92| 26 19 | 565 596 | 10 |88| 1143 | 107,5 | 286 | 103,9
05904-012102 M12x70 44 |65/ 11|40 1 |16,2|92| 28 | 21 | 565 759|135 (85| 1284 | 1252 | 321,3 | 122

© norelem www.norelem.com



